
PARTS LIST

DESCRIPTIONSTOCK NUMBERPART NUMBERQTYITEM

2600 x 112mm SafalogCOMTIMSAF0002TB-200-58821

3050 x 112mm SafalogCOMTIMSAF0002TB-200-58922

4200 X 195 X 45COMTIMSAW0004TB-200-59023

3015 X 95 X 45COMTIMSAW0007TB-200-59174

M12 X 110 (DIN 603)COMSTABOL110M12 X 110 COACH BOLT85

M12 NYLOC NUT (DIN 985)COMA2NNM12M12 NYLOC NUT 86

M12 WASHER (DIN 125)COMA2FWM12M12 WASHER 87

30MM BLACK CAPCOMPLACAP000130MM BOLT COVER88

CANOPY 5940 X 6000 AMBER 655_16 System_3X4RCT19

0.036M³ CONCRETE FOUNDATION 300 x 300 x 400410

M6 X 100 TORX WOODSCREW A2 STAINLESSCOMA2WS6X100M6 X 100 WOODSCREW1411

PRO-500-109 BASIC SCHOOL CANOPY (3M X 4M)

27/10/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

OUTDOOR FURNITURE

Title:

Date:

9

1

2

17

15

12

18

13

16

14

11

3

4

5
0
0
,
0
0

2
1
0
0
,
0
0

2
5
5
0
,
0
0

2
6
8
0
,
0
0

2488,00

SURFACE LEVEL

10

TABLE

ITEM

QTY

PART NUMBER STOCK NUMBER DESCRIPTION

12 3 GUTTER BRACKET  

13 1 GUTTER CHANNEL  

14 1 GUTTER RUNNING OUTLET  

15 2 GUTTER DOWNPIE BRACKET  

16 1 GUTTER DOWNPIPE 68MM DIA  

17 2

GUTTER ROUND DOWNPIPE 

OFFSET 112.5 DEG

 

18 1 GUTTER SHOE  

19 2 GUTTER END STOP

20 10 M6 X 40 WOODSCREW COMA2WS6X40 M6 X 40 TORX WOODSCREW A2 STAINLESS

8

0

,

0

0

°



PRO-500-109 BASIC SCHOOL CANOPY (3M X 4M)

27/10/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

OUTDOOR FURNITURE

Title:

Date:

4200,00

135,00135,00

2
6
8
7
,
0
0

9
4
,
4
0

1
4
6
,
3
0



PRO-500-109 BASIC SCHOOL CANOPY (3M X 4M)

27/10/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

OUTDOOR FURNITURE

Title:

Date:

3600,00

2
6
0
0
,
0
0

4

4

4

1

,

0

0

ALL FOUNDATIONS ARE 300 X 300 X 500 DEEP UNLESS OTHERWISE SPECIFIED



PRO-500-109 BASIC SCHOOL CANOPY (3M X 4M)

27/10/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

OUTDOOR FURNITURE

Title:

Date:

2

3

5

7

6

8

1. AS SHOWN BELOW, CREATE THE FRONT (LARGE) FRAME AND POSITION INTO THE FOUNDATION HOLES.

2. REPEATING STEP ONE CREATE THE REAR (SMALL) FRAME AND POSITION INTO THE FOUNDATION HOLES.

1

3

5

7

6

8

3. SECURE THE RAFTERS TO BOTH SIDES OF THE FRAME USING THE FIXINGS PROVIDED.

    RAFTER SPACINGS SHOWN ON PAGE 2.

4

11

3

4. BUILD THE COLOURED ROOF FOLLOWING THE INCLUDED MANUFACTORS INSTRUCTIONS AND 

    SECURE TO THE RAFTERS USING THE FIXINGS SUPPLIED.



A-A ( 1 : 100 )

 

AA

A

PRO-500-109 BASIC SCHOOL CANOPY (3M X 4M)

27/10/2020

Page:

Product Range:

PROPRIETARY AND CONFIDENTIAL
 

THE INFORMATION CONTAINED IN THIS
DRAWING IS THE SOLE PROPERTY OF
FENLAND LEISURE PRODUCTS.  ANY 

REPRODUCTION IN PART OR AS A WHOLE
WITHOUT THE WRITTEN PERMISSION 

OF FENLAND 
LEISURE PRODUCTS IS PROHIBITED.

Tel: 01354 638359   www.onlineplaygrounds.co.uk

A3

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
TOLERANCES:
        LINEAR:                   ±2MM
        1 DECIMAL PLACE: ±0.5MM
        ANGULAR:               ±1°

DO NOT SCALE FROM DRAWING

OUTDOOR FURNITURE

Title:

Date:

4. WITH THE ROOF IN PLACE POSITION AND SECURE THE GUTTER CHANNEL USING THE BRACKETS 

    AND FIXINGS SUPPLIED. 

9

12

18

13

11

5. AS SHOWN POSITION BELOW, POSITION AND SECURE THE GUTTER DOWN PIPE TO THE POST 

    USING THE BRACKETS, FIXINGS AND ANGLED DOWNPIPES SUPPLIED.

16

14

15

17

5. FINALLY. ENSURE THE UNIT IS LEVEL AND PLUMB, ALL FIXINGS HAVE BEEN TIGHTENED AND 

PROTECTIVE CAPS IN PLACE. ADD CONCRETE TO EACH FOUNDATION HOLE AND LEAVE FOR 48 

HOURS.

CONCRETE

SURFACE LEVEL

1
0
0
,
0
0

5
0
0
,
0
0


